



Naam: _____

Datum: _____ Score: _____

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{3} =$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{2}{5}\right) + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{5}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^2 - \frac{3}{4} =$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{4}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{6} =$$

$$\left(\frac{3}{5}\right)^3 + \frac{3}{4} =$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^3 - \frac{2}{5} =$$



Naam: _____

Datum: _____ Score: _____

$$\left(-\frac{1}{3}\right) + \left(-\frac{1}{6}\right) = \left(-\frac{1}{2}\right)$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{4} = \frac{5}{18}$$

$$\left(\frac{1}{2}\right)^3 + \frac{1}{3} = \frac{11}{24}$$

$$\left(-\frac{3}{4}\right)^0 - \left(-\frac{1}{6}\right) = \frac{7}{6} = 1\frac{1}{6}$$

$$\left(-\frac{2}{5}\right) + \frac{3}{5} = \frac{1}{5}$$

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{4}\right) = \frac{3}{4}$$

$$\left(-\frac{1}{5}\right) - \left(-\frac{1}{2}\right) = \frac{3}{10}$$

$$\left(\frac{3}{5}\right)^0 - \left(-\frac{1}{4}\right) = \frac{5}{4} = 1\frac{1}{4}$$

$$\left(-\frac{2}{5}\right)^2 + \frac{1}{3} = \frac{37}{75}$$

$$\left(\frac{1}{2}\right)^2 - \frac{3}{4} = \left(-\frac{1}{2}\right)$$

$$\left(\frac{1}{4}\right)^2 + \left(-\frac{1}{6}\right) = \left(-\frac{5}{48}\right)$$

$$\left(-\frac{3}{5}\right)^0 - \left(-\frac{1}{3}\right) = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{3}{4}\right) - \left(-\frac{1}{4}\right) = 1$$

$$\left(\frac{1}{3}\right)^3 - \left(-\frac{1}{4}\right) = \frac{31}{108}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) = \frac{5}{12}$$

$$\left(-\frac{1}{3}\right)^3 - \frac{1}{2} = \left(-\frac{29}{54}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{6} = \frac{5}{12}$$

$$\left(\frac{3}{5}\right)^3 + \frac{3}{4} = \frac{483}{500}$$

$$\left(-\frac{1}{3}\right)^3 + \left(-\frac{3}{5}\right) = \left(-\frac{86}{135}\right)$$

$$\left(\frac{1}{2}\right)^3 - \frac{2}{5} = \left(-\frac{11}{40}\right)$$